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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-11_0
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P3-11

BYiE) | GEBIRTIK (D) | EBE (EA/#K) | XS ERE

07:00 294 150.0 RS {Ri%@07:00 Bz (RFEERER)
07:45 294 150.0 B 1Rige07:45 Bzh (REEESE)
08:30 294 150.0 AE| 1Ri&e08:30 Bzl (KRFERSE)
09:50 294 150.0 RS {Ri%@09:50 Bz (REERZE)
10:40 294 150.0 BE| 1Ri%e10:40 B (REERER)
11:30 294 150.0 BE| BRi%e11:30 B3 (GREAERSE)
12:15 294 150.0 S| Rige12:15 Bz (REAERESR)
12:55 294 150.0 el Rige12:55 Bal (REAEHSE)
13:40 294 150.0 | BRi%e13:40 B3 (GGREERESE)
14:25 294 150.0 B Rige14:25 Bz (REAERSE)
15:20 294 150.0 | =| 1Ri&e15:20 Bz (RPBEEE)
23t 3234.0 (11)%) 1650. 0 32 F%KEC: 2080.0, PH: 6.0

MEREHERE STMAAEARS (191.0 : 153.0), AREHTF—@E XAH4
ZRIALBRERE153.0 ml.
AEREMEC (2635.0) 5i%EEC (2000.0) RMELK KA, B/E



P3-11_0, Day=41 (2025-05-13)

LR S e e it
V1, V¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

100 A

50

200 -

150 A

100 A

FRV (ml plant-1)

50 A

1600

116

Warning: lcol ['FVI’,

"FVO' ] missing

— M_E

maxM

- 2000

- 1500

- 1000

- 500

-0
430

1.0

0.8 A

Warning: lcol ['WC1’,

"WC2' ] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

0.2~

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

908 -

300

200

ET (ml/hr/plant)

100 A

408 3

Bylnit @43 14:07: ET=1451 Fg=1650.0 Ro=219.0

0 1 2 3 4 5

6
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10

4

e—e e o o

- 2000

- 1000

13
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21 22 23

= A [ B | BB | M| B

[

i

E3
B

E3
B

E3
B

ES
5]

=
B

E3
B

=
B

300

200

100 A

ET (ml/hr/plant)

408 3

ByEt @41 19:08: ET=1478 Fg=1500.0 Ro=nan

6

7

8 9

10

11

- 2000

- 1000

16

21 22 23

%=

i

= H§

E3
B

ES
5]

%=

N[ BA [ BA

300

200

100 A

ET (ml/hr/plant)

1.0 A

- 2000

- 1000

0.8

E3
B

=
B

%=

ER

INFR

A

N[ BA [ BA

0.6

0.4+

0.2~

2008 7

—_—
(] | _obs
—@— PPFD obs

40 -

o RH_obs
o RHo obs

o VPD

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=380, FV0=0 m=435, FV0=0 m=540, FV0=0
17. 25 A

15. 8 ~ . M_E - M_E 17. 4 ~ - M_E
17 |
156 17.00 17 9 4
16. 75
17.0 ~
16 15. 4 ~
16. 50 16.8 -
15. 2
16. 25
15 6.25 16. 6
15. 0 ~
16. 00
16. 4
14. 8 ~
14 - T T T T T T T 15 75 - T T T T T T
400 600 800 1000 380 385 390 435 440 445 540 545 550
m=620,m FV0=0 m=680,m FV0=0 m=735,m FV0=0 m=780,m FV0=0
17.2 A - M_E 17.0 A . M_E 15.9 + - M_E 15. 40 - M_E
i 15. 35 o
17.0 1 108 15.8 1
16. 8 15.7 15.25
16. 4 A ' '
16. 6 15. 20 o
16. 2 15.6
15.15 +
16. 4 16. 0 -
15.5 15.10 o
T T T T T T T T T T T T
620 625 630 680 685 690 735 740 745 780 785 790
m=830,m FV0=0 m=880,m FV0=0 m=930,m FV0=0 m
14. 90 14. 50 o M_E 14. 20 2 | o MW
14. 48 14.18
14 85 T 25 _
14. 46 14.16
14. 80 - 24 7
14. 44 14. 14 +
23 A
14.75 +
14. 42 14.12
22 A
14.70 + M_E 14. 40 14.10 M_E
830 835 840 880 885 890 930 935 940 400 600 800 1000
m=380,m FV0=0 m=435,m FV0=0 m=540,m FV0=0 m=620,m FV0=0
26.0
240 - —0— MW —0— MW 25 5 —0— MW 25 5 —-0— MW
25.5
935 25.0 25.0
93 0 4 250 - 24.5 24.5
24.0 24.0 +
22.5
24.5
23.5 23.5
22.0
24.0 23.0 23.0
21.5
380 385 390 435 440 445 540 545 550 620 625 630



m=680, FV0=0

25.5 -

25. 0 -

24.5

24.0

23.5 -

23.0

——

M_w

680

6é5 660
m=880,n FV0=0

25.5

25.0 -

24.5

24.0 -

23.5

—— MW

880

T
885 890

25.

25.

24.

24.

23.

23.

26.

26.

25.

25.

24.

24.

23.

m=735, FV0=0

—o—

M_W

T
735

7&0 7&5
m=930,n FV0=0

——

M_W

T
930

T
935 940

26.

25.

25.

24.

24.

23.

23.

m=780, FV0=0

—0—

M_W

780

T
785 790

m=830, FV0=0

25.5 A

25.0 A

24.5 A

24.0 A

23.5 A

23.0 A

—0—

M_w

830

T
835 840
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P3-11

BriE) | EBIATK (D) | EHE (EH/HK) | XK R

06:55 294 150.0 |Z=| 1Ri&e06:55 Bz (KAL)
07:45 294 150.0 (2 =| 1BRi%e07:45 Bz (kBFERSE)
09:05 294 150. 0 FB| {Ri&@09:05 B (FAFERESE)
10:15 294 150.0 FA| {Ri&e10:15 Bzl (RAEREE)
11:25 294 150.0 FA| {Ri&e11:25 Bz (GRAEEE)
12:15 294 150. 0 B {Rige12:15 Bz (GRAFERSE)
13:05 294 150.0 FH| 1Bi&@13:05 Bah (RAERSE)
14:00 294 150.0 FH| 1Ri%@14:00 B3h (RAERSE)
15:00 294 150.0 FA| 1Ri&@15:00 B (RAHEREEE)
16:20 294 150.0 FA| {Ri%e16:20 Bzl (RAHEKS)
23+ 2940.0 (10)%) 1500. 0 3233 %EC: 2080.0, PH: 6.0

TERRHLER 2 STEELRT (191.0 :

ZRIALBRERE153.0 ml.

153.0), AlEEHT—@ % XA HS
AEREMEC (2610.0) 5i%EEC (2000.0) RMELK KA, B/E




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=40 (2025-05-12)

T e g g g S S B B g

VI, VBIRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1910 - 2000
1600 Pss0 ~
100 41400 - 1500 1
131 125 _
- 1000 S
50 A E
- 500
80 Warning: lcol [FVI',| "FVO’'] missing 40
04 r0
(B — ME 4 30
200 FRV maxM
150 A
100 A
50
1.0
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
: .08 ET= - _ A
300 4 Bylnit @43 14:08: ET=986 Fg=1200.0 Ro=150.0 : | 2000 ©
| s
| | - 1500 @
200 ' P S——— E
- 1000
'—
100 - 500 ug
| i i3]
o 9 —0—0—0— \\Iw///#
0 —a—— o y S = | ¥¥§ 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
3004 PBR CHREFREZSRE BH A i g BH [A FH FH BH [A FH FH 5 i 5 5 5 [A P8 L 2000 )
— _ _ 1 %
’00 - ByEt @D40 19:07: ET=1404 Fg=1500. 0 Ro=nan ® .' ® ® ® L 1500 E_
- 1000 =
100 ~ m
- 500 S
p————& \ 4 ]
0 B S 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
3004 PBR EHEARERARAE A EEEEAEEE EEAR [A FH FH BH [A FH FH BH [A GCHREFREFIERS gz—i—zooo’a
_ _ _ I €
’00 - ByWoFv @D43 14:08: ET=1125 Fg=1500.0 Ro=339.0 : ® ® ® ® ® L 1500 E_
- 1000 =
100 - [N @
L 500 S
b & —& © &——O— -
1.0 P S S S e— I 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0.8 - FH EHEARERARAE A EEEEAEEE EEAR [A FH FH BH [A FH FH BH [A ERERERARERERS
0.6 -
0.4 1
0.2 A
0.0
—_— 4
1500 + [ ] | _obs
—@— PPFD obs
1000 +

500 -




17.

17.

17.

16.

16.

16.

16.

15.

15.

13.

15.

23.

23.

22.

22.

21.

21.

17

16

15

T
400

T T
600 800

m=650,m FV0=0

50 A

25 A

00 ~

75

50 A

25 A

T T
655 660

m=875,m FV0=0

8é0 8é5
m=435,n FV0=0

440 445

m=435, FV0=0

16. 00 -

15.75 A

15. 50 A

15. 25 A

15. 00 -

14.75 A

440 445
m=730,m FV0=0

16. 2

16. 0 -

15.8 A

15.6

15. 4 -

15.2 4

T T
735 740

m=925,m FV0=0

16. 4 -

16. 2

16.0

15. 8 4

15.6 A

930 935

25.0 -

24.5 -

24.0 A

23.5 A

23.0 -

——

m=495,n FV0=0
560 565

m=495, FV0=0

17.0 A

16.5

16. 0

495

560 565
m=770,n FV0=0

16. 2

16. 0

15. 8 ~

15.6

15. 4 4

——

7;5 7é0
m=980,n FV0=0

16. 6

16. 4

16. 2

16.0

15. 8 ~

9é5 960
m=555,n FV0=0

25.0

24.5 -

24.0

23.5

——

555

560 565

m=535, FV0=0

17.75 A

17. 50 A

17. 25 A

17. 00

16. 75 A

16. 50 -

—0— M_E

555 5é0 5é5
m=825,n FV0=0

15. 8 A

15.6 A

15. 4 4

15.2 4

15.0 4

26 -

25 A

24 -

23 -

22 -

21 -

400 600 800 1000

m=650,m FV0=0

25.0 4

24.5 -

24.0 A

23.5 A

23.0 -

22.5 A

-— MW

650 655 660




m=730, FV0=0

24.5

24.0

23.5

23.0

22.5

22.0

—o—

M_Ww

T
730

T T
735 740

m=925,m FV0=0

26. 0

25.5

25.0

24.5 -

24.0 -

23.5 A

——

M_W

T
925

T
930 935

25.

25.

24.

24.

23.

23.

26.

26.

25.

25.

24.

24.

m=770, FV0=0

—— MW

770

T T
775 780

m=980,m FV0=0

—— MW

980

985 990

m=825, FV0=0

25.5

25.0

24.5 -

24.0

23.5

23.0 -

—0—

M_W

825

T T
830 835

m=875, FV0=0
25.0 A MW
24.5 4
24.0 A
23.5 4
23.0 A
T T T
875 880 885
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P3-11

BriE) [ EBIETK (D) | EHE (EH/HK) | XK ERE

07:25 288 150.0 A5 {Ri%e07:25 Bz (REERESR)
08:15 288 150.0 B 1Rige0s:15 Bzh (REAEESE)
09:05 288 150.0 RS {Ri&009:05 B3 (KREERESE)
10:00 288 150.0 RS {Ri%@10:00 Bzl (REERR)
10:50 288 150.0 B 1Rige10:50 Bzh (REEESR)
11:35 288 150.0 S| Rige11:35 Bz (REAERE)
12:20 288 150.0 S| Ri%e12:20 Bz (REAERESR)
13:05 288 150.0 BE| Rige13:05 Bal (REAEHE)
13:55 288 150.0 BE| Rige13:55 BHal (REAEHE)
14:55 288 150.0 e Rige14:55 Bz (REAERSE)
15:50 288 150.0 el Rige15:50 Ba) (REERESE)
23+ 3168.0 (11)%) 1650. 0 32 F%KEC: 2080.0, PH: 6.0

MEBEHERE STMAREARS (187.0 : 150.0), AIEEHTF—®E XAH4
ZRIALBRIERE150. 0 ml.
AEREMEC (2650.0) 5i%EEC (2000.0) REL KA, /T



FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=39 (2025-05-11)

R S i et Y
VI, VO, FRV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 1870 - 2000

—
S
(=)
o
T
—_
ol
o
o

100 41300

010
- 1000

50

00 L 500
Warning: lcol [FVI',| "FVO’'] missing 80

SRty — ME #30

(¢
200 -

150 fF=——m e e e e - 25

S ..

| - 20
50 !\I\I\N\u\H\!\'\
- .

o N T

M_E

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

400 4 ByTnit @43 14:08: ET=1669 Fg=1800.0 Ro=61.0

300

T 1 1 - 2000

s “\ir L 1000
i1 1! -

100 i
1
o oo B H N
0-!T. P 1 ¥ L 0
HHE

200

| 4

400 1 2 3 4 5 6 7 8 9 10 | 11 12 [ 13 | 14 | 15
B[ B[ [E|r [ [ [ [ [ [ [ [ | [E|K[E[B[K[B[K[B|B

300 1 ByEt @D39 19:06: ET=1561 Fg=1500. 0 Ro=nan - 2000

200 -
100 - =

- 1000

3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

400 = — —
e[ [ [ [ [/ [ [/ [ | || |f || |K|K | IZSE|ZE| %S

300 - 2000

200
- 1000

ET (ml/hr/plant)

100 -

1.0

0.8

0.6

0.4+

0.2~

0.0
—_—
1500 1 (] | _obs

—@— PPFD obs

1000

500 A

80 t
60 -
404 — HRH -
[ ] RH_obs
20 - ] RHo_obs

hour

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=460, FV0=0 m=510, FV0=0 m=560, FV0=0

18.75 4
—o— ME |17.251+ —— ME 18.254 —@— ME —— ME
18.5 -
17. 00 - 18. 00 ~ 18-507
18.0 -
16. 75 4 17.75 - 18.25 1
17.5 -
17.50 18.00
16. 50
17.0 -
17. 25
i 17.75 -
165 16. 25
17.00 7 50
16,04 16. 00 .
T T T T T T T T T 16 75 B T T T T T T
500 600 700 800 900 1000 460 465 470 510 515 520 560 565 570
m=610,m FV0=0 m=665,m FV0=0 m=720,m FV0=0 m=770,m FV0=0
18.75 —e— MNE —o— ME —o— ME —o— ME
18.4 1 17.8 - 17. 4 -
18.50 18.2 -
17.6 - 17.2 -
18. 25 18.0 -
17.4 - 17.0 1
18. 00 - 17.8 -
17.2 - 16.8 -
17.6 -
17.75
17. 4 17.0 A 16. 6
17.50 o
T T T T T T T T T T T T
610 615 620 665 670 675 720 725 730 770 775 780
m=820,m FV0=0 m=885,m FV0=0 m=940,m FV0=0 m
1747 o WmE —o— WME 17.07 o wmE 25 -
17.0 -
17.2 - 16.8 4
24 -
17.0 - 16.8 -
16. 6 -
16. 8 - 6.6 23 -
' 16. 4 -
16. 6 - 2
16.4 4 16. 4 A 16. 2
21 - —.—
16. 2 - 16.2 - 16. 0 - MW
820 825 830 885 890 895 940 945 950 500 600 700 800 900 1000
m=460,m FV0=0 m=510,m FV0=0 m=560,m FV0=0 m=610,m FV0=0
25.0
—o— MW 24.5 - —— MW —— unuw | 207 —e— MW
23.0
24.5 -
24.5 -
22.5 - 24.0 -
24.0
99 0 4 24.0 -
23.5 -
23.5 -
21.5 1 23.5 -
23.0 -
21.0 A 23.0 -
23.0 -
T T T 22 5 T T T T T T T T T
460 465 470 510 515 520 560 565 570 610 615 620



m=665, FV0=0

25.0 A

24.5

24.0 -

23.5 A

23.0 -

22.5

—o—

M_W

T
665

T T
670 675

m=885,m FV0=0

25.0

24.5

24.0

23.5 -

23.0 -

—o—

M_W

T
885

T
890 895

24.

24.

23.

23.

22.

25.

24.

24,

23.

23.

m=720, FV0=0
—— MW
5
0
5 -
04
51@®
720 725 730
m=940,m FV0=0
04 - MW
5 -
0
5
0 -
9;10 9‘I'r5 9;')0

m=770, FV0=0
25.0 —— MW
24.5 -
24.0
23.5 -
23.0
T T
770 775 780

m=820, FV0=0
25.0 A MW
24.5 4
24.0 A
23.5 4
23.0 A
T T
820 825 830




